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Chapter Nine 

Bogoljubow Defence 
 

 
 

 
 

 

1 d4 d5 2 e4 dxe4 3 Ìc3 Ìf6 4 f3 exf3 5 

Ìxf3 g6 

W________W 
[rhb1kgW4] 
[0p0W0pDp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDW)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGQIBDR] 
W--------W 

In the Blackmar-Diemer Gambit, fi-

anchettoing the dark-squared bishop is 

usually known as the Bogoljubow De-

fence, even though Efim Dmitriyevich 

only played it occasionally (he also em-

ployed the Euwe Defence and the 

Brombacher Counter-Gambit). Among 

those who regularly deal with the 

Blackmar-Diemer, Georg Studier would 

undoubtedly have to be named as the 

one who contributed most to the basic 

theory underlying this system. 

The design of Black’s game plan 

quickly becomes obvious: the bishop on 

the a1-h8 diagonal puts itself forward 

for play against the white d-pawn by 

means of ...c7-c5 and/or ...Ìc6. White’s 

main objective, on the other hand, has 

not changed from that in the previous 

chapters: a direct assault on the enemy 

king. The only question is how best to 

carry it out. 

 
 

 
 A: 6 Íc4 170 

 B: 6 Íf4 200 
 

 
Sometimes White plays 6 Íg5 Íg7 

(6...Ìbd7 is note “c32’ in Chapter 7) 7 
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Ëd2 (7 Íc4 is note ‘d’ to White’s 7th 

move in line A below) 7...0-0 (7...h6 8 

Íf4 would render Black’s castling prob-

lematic) 8 0-0-0, which can be compared 

with 6 Íf4 in line B and may just trans-

pose if White follows up with Íg5-h6 

(for instance, after 8...b6, 8...Ìbd7, or 

8...c6). 

The drawback to putting the bishop 

on g5 comes after 8...c5! (8...Íg4 9 Íe2 

c6 10 h3 Íxf3 11 Íxf3 Ëa5 12 Êb1 b5?! 

13 Ìd5! Ëd8 14 Ìxf6+ exf6 15 Íf4 Ëc8 

16 g4 a5 17 Ëg2 Îa6 18 h4 gave White 

a strong attack in K.Soller-Würgler, cor-

respondence 1953) 9 d5 a6, since 10 d6 

(as in line B) is clearly no good here. In-

stead, G.Müller-R.Pape, correspondence 

1975, continued 10 h4 b5 (10...Íg4 may 

be stronger, and if 11 Ëf4 then 

11...Ëd6!) 11 h5 b4 12 Íxf6 exf6 13 Ìe2 

Íg4 14 hxg6 hxg6 15 c3 a5 16 Ìf4 Ëd6 

17 Îh4 f5 18 Íc4 Ìd7 19 Îdh1 Ìb6? 

(19...bxc3 20 bxc3 Îfb8 was correct) 20 

Ìe6!! fxe6 (not 20...Ìxc4?? 21 Îh8+ and 

wins) 21 Îh8+ Íxh8 22 Îxh8+ Êxh8 23 

Ëh6+ and White escaped with a draw. 

 

A: 6 Íc4 and the Studier Attack 
To this day, the Studier Attack (6 Íc4 

Íg7 7 0-0 0-0 8 Ëe1) is the most popu-

lar way of dealing with the Bogoljubow 

Defence. And this is hardly surprising: 

the attacking patterns are as easy to 

learn as they are effective. Black has to 

play very accurately in order not to go 

quickly to the dogs. 

6...Íg7 

This is almost invariably played. It 

makes little sense to hold this move 

back; and, indeed, playing differently 

can cause problems. For instance, 

6...Íf5?! 7 Ìe5 e6 8 Íg5! sees Black al-

ready in a mess (8 g4 Ìfd7! 9 Ìxd7 

Ëh4+ is less clear), while after 6...Ìbd7? 

7 Íxf7+! Êxf7 8 Ìg5+ Êg8 9 Ìe6 Ëe8 

10 Ìxc7 Ëd8 11 Ìxa8 Ìb8 12 Ëf3 Ìc6 

13 d5 Ìd4 14 Ëf2 Ìf5 15 Ëxa7 White 

won in E.J.Diemer-M.Kloss, correspon-

dence 1956. 

W________W 
[rhb1kDW4] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGQIWDR] 
W--------W 

7 0-0 

I cannot recommend other moves: 

a) 7 h4?! is the so-called Mad Dog At-

tack. The idea is to take the black king-

side by storm, but this rather primitive 

assault can be fended off quite easily: 

7...0-0 8 h5 (Lane has suggested 8 Íg5 

followed by Ëd2; this can be compared 

to the Íg5 lines examined below, in 

which an early h2-h4 is often prema-

ture; nevertheless, as opposed to the 

text, this would still be the better 

choice) 8...Ìxh5 9 Îxh5 gxh5 10 Ëd3 

(necessary, as otherwise Black plays 

...Íf5-g6) 10...Ëd6! and White is lost as 

he cannot build enough force: 
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W________W 
[rhbDW4kD] 
[0p0W0pgp] 
[WDW1WDWD] 
[DWDWDWDp] 
[WDB)WDWD] 
[DWHQDNDW] 
[P)PDWDPD] 
[$WGWIWDW] 
W--------W 

a1) 11 Ìg5 Ëg6 12 Ëf3 (12 Ìd5 Ìc6 

13 c3 Íf5 14 Ëf3 e6 15 Ìxc7 Îac8 16 

Ìb5 Ìxd4! and wins was P.Fraemohs-

A.Osipov, correspondence 2002) 12...e6 

13 Íd3 f5 14 Ìb5 Ìa6 15 c3 h6 16 Ìh3 

Ëg4 and even though White eventually 

won in N.J.Jensen-H.Scott, correspon-

dence 1988, Black’s advantage is unde-

niable. 

a2) 11 Ìd5 Ëg3+ 12 Êf1 Ìc6 13 Íf4 

Ëg6 14 Ëb3 Íe6 15 c3 Íxd5 16 Íxd5 

Ëd3+ 17 Êg1 Ìa5 18 Ëa4 c6 19 Ëxa5 

b6! 20 Íc4 Ëxc4 21 Ëxh5 f6 and Black 

soon won in T.Purser-J.Richter Mendau, 

correspondence 1987. 

a3) 11 Ìe4 is met by 11...Ëg6 (better 

than 11...Íf5 12 Íxf7+ Îxf7 13 Ìxd6 

Íxd3 14 Ìxf7 Íxc2 when Black’s ad-

vantage is only minimal) 12 Ìh4 Ëg4 

13 g3 and now, instead of 13...Îd8?! 

from R.Holland-NN, England (skittles 

game) 1992, simply 13...h6 leaves Black 

with a clear advantage (Sawyer). 

b) I would like to call 7 Ìe5 the Out-

post Variation (even though it is gener-

ally known as the Nimzowitsch Attack, 

for whatever reason). Obviously, the 

main idea is to play aggressively against 

f7. After 7...0-0 we have: 

W________W 
[rhb1W4kD] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWHWDW] 
[WDB)WDWD] 
[DWHWDWDW] 
[P)PDWDP)] 
[$WGQIWDR] 
W--------W 

b1) 8 Ëe2 was played in the game 

E.J.Diemer-Platz, correspondence 1950, 

which went 8...e6 9 Íe3 Ìbd7 10 Íg5 

c6 11 0-0-0 Ëc7 12 h4 b5 13 Íb3 a5 14 

a4 b4 15 Ìxd7 Ëxd7 16 Ìe4 Ìxe4 17 

Ëxe4 Ëc7 18 h5 Ëg3 19 Íe7 Îe8 20 

Îh3 Ëc7 21 Íg5 e5? 22 hxg6 hxg6 23 

Ëxg6 Êf8 24 Îf1 Íe6, when White 

forced mate by 25 Ëxg7+! Êxg7 26 

Íf6+ Êg6 27 Îg3+ Íg4 28 Îxg4+ Êh5 

29 Îg5+ etc. However, after the critical 

8...Ëxd4 9 Ìb5 (or 9 Íd2 c6 10 0-0-0 

Ìd5) 9...Ëb6 10 Íe3 c5 as suggested by 

Nickl, it is highly doubtful if White has 

enough for two pawns. 

b2) 8 Íf4 Ìbd7 – to my surprise, this 

natural move was not examined by 

Sawyer. The idea is not so much to trade 

the knight on e5, but rather to close the 

a2-g8 diagonal by transferring the 

knight via b6 (an idea we have already 

seen in the Langeheinicke Defence and 

which will also feature quite frequently 

below). One example of how play might 

continue is 9 0-0 Ìb6 10 Íb3 c6 11 Ëd2 
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Ìbd5 12 Íh6 Íe6 and Black has safely 

closed the a2-g8 diagonal, which leaves 

the knight on e5 grasping at nothing. 

After the further 13 Îf3, as in G.Fiebig-

Hartmann, correspondence 1985, then 

13...Íxh6 14 Ëxh6 Ìg4 15 Ìxg4 Íxg4 

would have led to simplifications that 

favour Black (who is, after all, still a 

pawn up). 

b3) 8 Íg5 has the advantage that if 

Black blocks the a2-g8 diagonal with 

...Ìbd5 now, the bishop is not attacked 

on f4. On the other hand, the knight on 

e5 lacks additional support, which makes 

a counter-thrust by ...c7-c5 more attrac-

tive: 8...c5! 9 dxc5 (9 d5 Ìbd7 10 Ìxd7 

Íxd7 11 0-0 h6 leaves Black a clear pawn 

up, while 11 d6? Íg4 12 Ëd2 Ëxd6 13 

Ëxd6 exd6 14 0-0 Íe6 gave him two 

pawns in P.Grott-G.Fiebig, correspon-

dence 1989) 9...Ëa5 10 Ëe2 Ëxc5 is as-

sessed as slightly better for Black by Saw-

yer. E.J.Diemer-M.Kloss, correspondence 

1955, continued 11 Ìf3 Ìc6 12 Íe3 

Ëb4 13 0-0 (13 0-0-0? Ìe4) 13...Ëxb2 14 

Ìb5 Ëb4?! 15 Îab1 Ëa5 16 Íf4 a6 17 

Íc7 b6 18 Ìbd4 Ìxd4 19 Ìxd4 Ìd7? 20 

Ìb3 Ëxa2 21 Ëxe7 and Diemer won 

eventually, but after 14...Íg4! there 

would not have been much hope for 

White, since 15 Îab1 doesn’t trap the 

queen because of 15...Íxf3. 

b4) Finally, 8 0-0 is well met by 

8...Ìc6! (which was not considered by 

Lane at all). Black directly targets the d-

pawn, ignoring any temporary weak-

nesses occurring after 9 Ìxc6 (9 Íe3 is 

no better: 9...Ìxe5 10 dxe5 Ëxd1 11 

Îaxd1 Ìg4 12 Íc5 Ìxe5 13 Íb3 c6 14 

Íxe7 Îe8 15 Íh4 was played in 

D.Rosner-J.Kessler, correspondence 

2000, when 15...Íe6 leads simplifica-

tions with Black still a pawn up) 9...bxc6. 

Following 10 h3 (10 Íe3 runs into 

10...Ìg4; or if 10 Íf4 Ìg4 11 d5 e5! 12 

dxe6 Ëd4+ and Black was winning 

E.J.Diemer-S.Wolk, Germany 1951; while 

after 10 Ìe2 Ìh5 11 c3 e5 12 d5 Íb7 13 

Ëb3 Îb8 14 dxc6 Íxc6 15 Íxf7+? Êh8 

16 Ëc2 Ëd7 17 Íc4 Ëg4 White was hit 

on the break in E.J.Diemer-E.Kos, Ger-

many 1950; Diemer later described f7 as 

a “strychnine pawn”) 10...Ìh5 (or 

10...Ìd5 11 Íb3 Ía6 and Black is 

clearly better, as noted in Schach-Echo 

6/1953) 11 Ìe2 e5! 12 g4 Ëh4! we 

reach a position where Black sacrifices a 

piece, but gets more than enough 

pawns after 13 gxh5 Íxh3 14 Îf2 Ëg4+ 

15 Êh1 Ëxh5 and has an ongoing ini-

tiative on top. 

c) After 7 Íf4 0-0 8 Ëd2 (8 0-0 trans-

poses to 7 0-0 0-0 8 Íf4, see note ‘d’ to 

White’s 8th move) Black again plays 

8...c5!. White now has: 

W________W 
[rhb1W4kD] 
[0pDW0pgp] 
[WDWDWhpD] 
[DW0WDWDW] 
[WDB)WGWD] 
[DWHWDNDW] 
[P)P!WDP)] 
[$WDWIWDR] 
W--------W 
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c1) After 9 d5 the d-pawn can be 

safely blockaded with 9...a6 10 a4 Ìe8!. 

M.Nicholls-R.Druon, correspondence 

2001, continued 11 0-0 Ìd7 12 Îae1 

Ìd6 13 Ía2 b5 14 Íh6 Ìf6 15 Íxg7 

Êxg7 16 Ìe5 Íb7 17 Ìc6 Íxc6 18 dxc6 

Îc8 19 Ìd5 Ìde4 20 Ëe2 c4 21 Ìxf6 

Ìxf6 and Black was better. 

c2) 9 0-0-0 was played in 

A.Neumeyer-J.Kainz, correspondence 

2002, but after 9...cxd4 10 Ìxd4 Íg4 11 

Îde1 Ìh5 12 Íe3 e5 13 Ìb3 Ëxd2+ 14 

Ìxd2 Ìc6 Black simplified the position 

and remained with an extra pawn. 

c3) 9 dxc5 seems critical, though 

there is little relevant practical material. 

Black should probably reply 9...Ìc6 10 

Ëxd8 (10 0-0 Ëa5 11 Ìb5 a6 regains 

the pawn since 12 Ìc7 Ëxc5 is check, 

while after 10 0-0-0 Ëa5 11 Ìb5 Black 

can play 11...Ëa4) 10...Îxd8 11 0-0 (11 

Ìg5 is coolly met by 11...h6! 12 Ìxf7 

Îd4 and White lost material in 

H.Schulz-H.Acker, correspondence 2004) 

11...Íf5 12 Íb3 Ìb4, followed by 

...Îac8, and it has become  difficult to 

protect c5. 

d) 7 Íg5 should also be met by 

7...0-0 8 Ëd2 (8 Ìe5 returns to ‘b3’ 

above; while 8 0-0 transposes to note ‘f’ 

to White’s 8th move) 8...c5! (Lane 

doesn’t give this move even though it 

led to a clearly better position for Black 

in his line after 7 Íf4) and then: 

d1) 9 dxc5 allows Black to simplify 

the position with 9...Ëxd2+ 10 Ìxd2 

Íf5 11 0-0-0 Ìbd7 and it will be diffi-

cult for White to hang on to the c-pawn. 

d2) 9 d5 a6 10 a4 Ìbd7 11 0-0 Ìb6 

12 Ëf4 Ìxc4 13 Ëxc4 Íf5 14 Îad1 Ëb6 

15 Îd2 Ëb4 16 Ìe5 was played in 

P.Motta-P.Heikkinen, Billings 1991, and 

now instead of 16...Ëxc4, either 

16...Ìd7 or 16...Ìg4 is winning almost 

instantly. 

d3) 9 0-0-0 cxd4 10 Ìxd4 Íg4 11 

Îde1 Ëc7 12 Íb3 Îd8 13 Ìcb5 Ëd7 14 

h3 a6 15 hxg4 axb5 16 Ìxb5 Ëxd2+ 17 

Íxd2 Ìc6 was seen in A.Neumeyer-

P.Leisebein, correspondence 1998, but 

this allowed 18 g5 Ìe8 when a draw 

was agreed. The immediate 16...Ìc6 is 

better as now White cannot play g4-g5. 

Returning to 7 0-0: 

W________W 
[rhb1kDW4] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGQDRIW] 
W--------W 

7...0-0 

7...Íg4!? is not entirely without 

merit. White should refrain from 8 

Íxf7+?! as after 8...Êxf7 9 Ìe5+ Êg8 

(9...Êe8 is even better) 10 Ìxg4 Ìxg4 

11 Ëxg4 Ëxd4+ 12 Ëxd4 Íxd4+ 13 

Êh1 Íxc3 14 bxc3 Ìc6 Black remained 

a comfortable pawn up in A.Frömmel-

H.Schilling, correspondence 1986. 

Therefore, White should try 8 h3 Íxf3 9 

Ëxf3, when we have: 
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W________W 
[rhW1kDW4] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDQDP] 
[P)PDWDPD] 
[$WGWDRIW] 
W--------W 

a) 9...Ëxd4+? 10 Íe3 Ëxc4 11 Ëxb7 

Ëc6?? (but 11...0-0 12 Ëxa8 Ìc6 13 Ëb7 

Îb8 14 Ëxc7 Îxb2 15 Îab1! is clearly 

better for White) 12 Ëc8 mate was ac-

tually played in A.Hall-M.Darlow, corre-

spondence 1986. 

b) With 9...c6 Black can try to adopt 

defensive ideas already seen; in turn 

White may try to exert pressure via the 

half-open f-file after 10 Íe3 Ìbd7 11 

g4. Practical examples are still missing, 

but I think that White has good chances. 

c) 9...Ìc6 is more active and requires 

precise play: 10 Íe3 0-0 11 Îad1, when 

11...Ëd6 12 g4 Ìa5 13 Íe2 c6 14 a3 Ìd5 

15 Ìe4 Ëc7 16 Íc1 b5 17 Ëf2 Îad8 18 

Ëh4 Ìf6 19 Ìg5 h6 20 Ìf3 Ìd5 21 Îf2 

Ìf4 gave Black the better position in 

U.Gohla-C.Wunderlich, correspondence 

2001. White should try 12 a3, which en-

sures that the light-squared bishop can 

stay on the a2-g8 diagonal. Black can 

strike in the centre with 12...e5, but after 

13 dxe5 Ëxe5 (13...Ìxe5 allows 14 Ëxb7) 

14 Ìd5 Ìxd5 15 Íxd5 Ëxb2 16 Íc5 

Ìd4 17 Íxf7+ Êh8 18 Ëe4 White has 

compensation in view of the bishop pair. 

W________W 
[rhb1W4kD] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGQDRIW] 
W--------W 

8 Ëe1 

This move initiates the Studier At-

tack, which plans a straightforward as-

sault with Ëh4, Íh6 and Ìg5. Many 

other ideas have been tried, but none of 

them are truly satisfactory: 

a) 8 Ìe5?!, despite its weaknesses, is 

surprisingly often played, but as given 

above Black has an effective counter in 

8...Ìc6! (see note ‘b4’ to White’s 7th). 

b) 8 h3 prevents ...Íg4 to take pres-

sure off d4, intending to follow with 

Íg5 and Ëd2 (as pointed out by Lane), 

but in my view it is too slow: 8...Ìc6 

(this is more to the point than 8...Ìbd7 

9 Ëe1 Ìb6 10 Íd3 c6 11 Ëh4 Ìbd5 12 

Íh6 followed by Ìg5) 9 Íg5 (or 9 Íe3 

Ìe8 10 Ëd2 Ìd6 intending 11...Ìf5 

with pressure against d4) 9...Íf5 10 Îe1 

(10 Ëd2 allows 10...Ìe4 11 Ìxe4 Íxe4 

12 c3 Íd5 with a better position for 

Black in R.Walmisley-E.Rasmussen, cor-

respondence 1993) 10...h6 11 Íf4 g5 12 

Íe3 e6 13 Ìe2 Ìb4 14 Íb3 Ëd6 and 

White had no compensation for the 

pawn in J.Dowling-E.Rasmussen, corre-

spondence 1993. 
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c) 8 Íe3 protects the d-pawn but is 

again too slow; the bishop needs to go 

to h6 in one move as now Black man-

ages to trade too many pieces: 8...Ìbd7 

(8...Ìc6 is also possible, intending 9 

Ëd2 Ìg4!, while 9 h3 transposes to the 

previous note) 9 Ëe1 (or 9 Ëd2 Ìb6 10 

Íb3 Ìbd5) 9...Ìb6 10 Íb3 Ìbd5 11 

Ìxd5 Ìxd5 12 Íxd5 Ëxd5 13 Ëh4 Íf5 

14 Ìg5? (but 14 Íh6 is met by 14...Ëe4) 

14...h6 15 Ìf3 Ëe4 and Black was win-

ning in J.Menella-A.Renna, USA 1992. 

d) 8 Êh1 is the Kloss Attack. Sawyer 

only gives an unannotated White win, 

which is bad insofar as, to some, this 

might suggest a certain validity; in real-

ity Êh1 is just a loss of an important 

tempo: 8...Íg4 9 Íe3 (or 9 Íg5 Ìc6 10 

Ìe2 Ìe4 11 Íe3 Ìd6 12 Íb3 Ìf5 13 

Íg1 Íxf3 14 Îxf3 Ìcxd4 15 Ìxd4 

Ìxd4 16 Îd3 Ìxb3! 17 axb3 Ëc8 and 

Black is two pawns up for nothing, while 

after 17 Îxd8 Îfxd8 and 18...Ìxa1 

Black has too much material for the 

queen) 9...Ìbd7 10 h3 Íxf3 11 Ëxf3 

Ìb6 12 Íb3 c6 and, in contrast to 

7...Íg4, Black can close the a2-g8 di-

agonal just in time; e.g. 13 Ìe2 Ìbd5 

14 Íg1 e6 and White had no compensa-

tion for the pawn in A.Hollnbuchner-

J.Strasser, Wattens 1999. 

e) 8 Íf4 is problematic because ...e7-

e5 is now even stronger; e.g. 8...Íg4 9 

Ëd2 (or 9 h3 Íxf3 10 Îxf3 Ìbd7 11 a3 

Ìe8 12 Íb3 Ìd6 13 Ìe2 e5 14 dxe5 

Ìxe5 was clearly better for Black in 

R.Sicker-J.Kessler, correspondence 2000) 

9...Ìc6 10 Îad1 Íxf3 11 Îxf3 e5 12 

dxe5 Ëxd2 13 Îxd2 Ìh5 14 Îd7 (not 14 

e6?! Ìxf4 15 exf7+ Êh8 16 Îxf4 Íh6, 

skewering the rooks, H.Offenborn-

F.Cottegnie, correspondence 2006) 

14...Ìa5 15 Íxf7+ Îxf7 16 Îxf7 Êxf7 

17 Íc1+ Êe6 18 g4 Ìc6 19 gxh5 gxh5 

20 Ìe4 Ìxe5 21 Îg3 gave White just 

enough play to draw in W.Trumpf-

C.Muck, correspondence 2007. 

f) 8 Íg5 can be rebutted as well. Black 

plays 8...Ìc6 9 Ëd2 (9 Ëe1 Ìxd4 10 Îd1 

Ìxf3+ 11 Îxf3 Ëe8 12 Íxf6 exf6 13 

Ìd5, from A.Junker-P.Woelfelschneider, 

correspondence 2000, doesn’t give White 

enough activity, as after 13...Ëxe1+ 14 

Îxe1 f5 15 Ìxc7 Îb8 Black still has two 

bishops and an extra pawn; while 9 d5 is 

not recommended either, as after 9...Ìa5 

10 Íe2 c6 White cannot play 11 b4 due 

to 11...Ëb6+) 9...Ìg4 10 Îad1 (10 d5 is 

again met by 10...Ìa5 11 Íe2 c6) 10...h6 

11 Íf4?! (but 11 Íh4 Ìa5 12 Íe2 Íf5 

allows Black to secure his kingside) 

11...e5! gave Black the better game in 

A.J.Dries-E.De Vries, correspondence 

1991. 

Returning to 8 Ëe1, 

W________W 
[rhb1W4kD] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGW!RIW] 
W--------W 
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Black has no less than four serious 

alternatives: 

 
 

 
 A1: 8...Ìbd7 176 

 A2: 8...Íf5 179 

 A3: 8...Íg4 181 

 A4: 8...Ìc6 183 
 

 
Two other moves should also be 

mentioned: 

a) 8...c5?! is premature, as after 9 

dxc5! Black has to waste time regaining 

the pawn. S.Soetewey-F.Wantiez, Ant-

werp 1997, continued 9...Ëa5 10 Íe3 

Ìc6 (10...Ìg4 runs into 11 Ìd5!) 11 

Ëh4 Íf5 12 h3!? (preventing ...Ìg4) 

12...Ëb4? (but otherwise White plays 13 

a3 and 14 b4, e.g. 12...Íxc2 13 a3 Îad8 

14 b4 Ëc7 15 Ìb5 Ëc8 16 Íh6 with the 

usual attack) 13 a3 Ëxb2 and now sim-

ply 14 Íd2 followed by 15 Îa2 would 

have won for White. 

b) 8...c6 is a semi-useful move, but 

does nothing to deter White’s attack 

with 9 Ëh4 and then: 

b1) 9...Ìbd7 10 Íh6 Ìb6 11 Íb3 

transposes to line A1 (see the note with 

10...c6). 

b2) 9...Íf5 10 Íh6 Íxc2 (10...Íxh6 

11 Ëxh6 Ìg4 is only a temporary deter-

rent: after 12 Ëd2 Ìd7 13 h3 Ìgf6 14 

Îae1 Ìb6 15 Íb3 Ëd6 16 Ëh6 the at-

tack was back on in K.Stummer-

C.Sallner, correspondence 1990) 11 Ìg5 

Íxh6 12 Ëxh6 Ëxd4+ 13 Êh1 Ìbd7 

was W.Wittmann-K.Rakoczy, correspon-

dence 1968, where White found 14 Íe6! 

fxe6 15 Ìxe6 Ìg4 16 Ëxf8+ Îxf8 17 

Îxf8+ Ìxf8 18 Ìxd4 Íd3 19 Îe1 Êf7 

20 h3 Ìf6 21 Ìf3 and the players 

agreed a draw, though White is slightly 

better in the final position. 

b3) After 9...Íg4 Lane suggests 10 

Íe3, but in the Studier Attack this 

bishop belongs on h6! It makes more 

sense to strengthen the d-pawn with 10 

Ìe2, seeing as 10...Ìd5 is not possible. 

The game F.Drill-A.Diehm, Griesheim 

2002, continued 10...Íxf3 11 Îxf3 Ìh5 

12 Íg5 Íf6 13 Îaf1 Ìd7 14 g4 Ëa5 15 

Íxf6 Ìhxf6 16 g5 Ìh5, and here 17 

Ìg3! would have won for White. 

 

A1: 8...Ìbd7  

W________W 
[rDb1W4kD] 
[0p0n0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGW!RIW] 
W--------W 

8...Ìbd7 is a flexible move that re-

tains two possibilities: for one, Black is 

now even more ready to strike with ...c7-

c5, but more important is the idea to 

close the a2-g8 diagonal by means of 

...Ìb6-d5, a defensive idea that should 

be familiar by now. The line was advo-

cated by GM Ludek Pachman in his book 

Damengambit, which is why it is also 

known as the Pachman Variation. 
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9 Ëh4 

W________W 
[rDb1W4kD] 
[0p0n0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDW!] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGWDRIW] 
W--------W 

9...Ìb6 

As mentioned above, there is also the 

idea of 9...c5. However, it is surprisingly 

easy to deal with; i.e. 10 dxc5! and then: 

a) 10...Ëc7 11 Íe3 Ìxc5 (instead, 

11...Ìe5 was tried in E.J.Diemer-Schijlt, 

Zwolle 1959, but after 12 Ìb5! Ìxf3+ 

13 Îxf3 Ëe5 14 Íd4 Ëh5 15 Íxf6 

Ëxc5+? 16 Ëd4 Black also bit the dust) 

12 Ìb5 Ëc6 13 Ìe5 Ëe4 was seen in a 

game NN-N.Barnett, correspondence 

1978, when 14 Ëxe4 Ìfxe4 (or 

14...Ìcxe4? 15 Ìxf7! Îxf7 16 Íxf7+ 

Êxf7 17 Ìc7 Îb8 18 Íxa7 and wins) 15 

Íxf7+ (15 Ìxf7 Íe6!) 15...Êh8 16 Íd4 

would have given White a clear advan-

tage. 

b) 10...Ìxc5 11 Íe3 (the standard 11 

Íh6?! now runs into 11...Ëb6) 11...Íe6 

(11...Ìe6 can be met by 12 Îad1 Ëa5 13 

Ìd5; e.g. 13...b5 14 Ìxe7+ Êh8 15 Íxe6 

Íxe6 16 Íd4! and the threat of 17 

Ëxf6! is quite annoying) 12 Íxc5 Ëc7 

13 Íxe6 Ëxc5+ 14 Êh1 (14 Ëd4 Ëxd4+ 

15 Ìxd4 Ìe4 16 Îxf7 Îxf7 17 Ìxe4 

Íxd4+ 18 Êh1 Íf6 19 Îd1 Êg7 20 

Íxf7 Êxf7 21 Ìxf6 Êxf6 led to a level 

endgame in C.Liew-A.Schenning, corre-

spondence 1998) 14...fxe6 15 Ìg5 and 

White has a slight advantage (as ana-

lysed by Smith & Hall). 

10 Íb3  

W________W 
[rDb1W4kD] 
[0p0w0pgp] 
[WhWDWhpD] 
[DWDWDWDW] 
[WDw)WDW!] 
[DBHWDNDW] 
[P)PDWDP)] 
[$WGWDRIW] 
W--------W 

10...a5 

Alternatively: 

a) 10...Ìbd5 closes the a2-g8 diago-

nal immediately, but it seems White has 

enough more than play for the pawn; 

e.g. 11 Íh6 (11 Ìxd5 Ìxd5 12 Íh6 

might be met by 12...f6!?) 11...Ìxc3 

(11...c6 is note ‘b’) 12 bxc3 Íxh6 13 

Ëxh6 Ìg4 14 Ëh4 h5 15 Ìg5 Íf5? 16 

Îxf5! gxf5 17 Ëxh5 Êg7 18 Íxf7 and 

Black resigned in G.Goanos-M.Donovan, 

Savannah 1999. 

b) 10...c6 has the same idea, but suf-

fers from being too slow; e.g. 11 Íh6 

Ìbd5 12 Ìg5 Ìe3? (but if 12...Íf5 13 

g4 Íxh6 14 Ëxh6 Ìe3 15 gxf5 Ëxd4 16 

Êh1 Ëd2 17 Îg1 Ìxf5 18 Ëh3 should 

win anyway) 13 Íxg7 Ìxf1 14 Íxf6 h5 

15 Ìxf7 Îxf7 16 Íxe7 1-0 A.Costa-

A.Alvim, correspondence 1995. If instead 

11...Íxh6 12 Ëxh6 Ìg4 13 Ëh4 h5, 
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then 14 h3 Ìf6 15 Ìe5! resumes the 

attack. P.Leisebein-R.Fischer, correspon-

dence 1989, continued 15...Êg7 16 Îf3 

Ëd6 17 Îaf1 Íe6 18 Íxe6 Ëxe6 19 

Ìe4 Ìbd7 20 Ìg5 Ëd6 21 Ëf4 Îad8 22 

c3 c5, and here 23 Ìexf7! would have 

regained the pawn with a clear advan-

tage as 23...Ëxf4 24 Îxf4 Îxf7? loses 

the other rook to 25 Ìe6+. 

11 a4 

W________W 
[rDb1W4kD] 
[Dp0W0pgp] 
[WhWDWhpD] 
[0WDWDWDW] 
[PDW)WDW!] 
[DBHWDNDW] 
[W)PDWDP)] 
[$WGWDRIW] 
W--------W 

Necessary, since the direct 11 Íh6 is 

not sufficient here: 11...a4 12 Ìg5 axb3 

13 Íxg7 Êxg7 14 Îxf6 h6 15 Îxf7+ 

Îxf7 16 Ëxh6+ Êxh6 17 Ìxf7+ Êg7 18 

Ìxd8 bxc2 and Black is winning; e.g. 19 

Îc1 (19 Îf1 runs into 19...Íg4! and 

should White save the knight, 20...Íd1 

is rather embarrassing; while 19 d5 al-

lows the neat 19...Íf5 20 Ìxb7 Ìxd5! 

21 Ìxd5 Îxa2! 22 Îc1 Îxb2 winning) 

19...c6 20 Îxc2 Íf5 21 Îe2 Îxd8 22 

Îxe7+ Êh6 23 Îxb7 Ìc4 24 Îb4 Ìe3 

followed by ...Ìc2 and a pawn falls. 

11...Íg4 

Pachman’s continuation, which 

looks like the best here. Black has also 

tried: 

a) 11...Ìg4?! 12 Ìe2 Ìd5 13 c3 Íf6! 

14 Íg5 Ìde3 saw Black clearly better in 

L.Hayden-D.J.Rogers, correspondence 

1975. But it is hard to see what was in-

tended after simply 12 h3, as given by 

Harding. Taking on d4 is near suicidal 

(12...Íxd4+? 13 Ìxd4 Ëxd4+ 14 Êh1 

leaves the knight on g4 pinned to the 

queen, and 12...Íf6 13 Ëg3 Íxd4+ 14 

Ìxd4 Ëxd4+ 15 Êh1 Ìf6 16 Íh6 wins 

the exchange), while 12...Ìf6 has just 

wasted two tempi. 

b) 11...Ìbd5 is little different than 

on the previous move: 12 Íh6 Íxh6 

(not 12...Ìxc3 13 bxc3 Íg4? 14 Ìg5 

Íh5 15 Íxg7 Êxg7 16 Íxf7! Ëd7 17 

Íb3 Îa6 18 Îae1 and White won in 

A.Hall-R.Mitchell, correspondence 1984) 

13 Ëxh6 Ìg4 14 Ëd2 (14 Ëh4!, as be-

fore, was more logical) 14...Ìxc3 15 

bxc3 Êg7 16 Îae1 Îa6 17 h3 Ìh6 18 

Ëg5 f6 19 Ëf4 Îc6 20 c4 Ëd6 21 Ìe5! 

g5 22 Ëf2 Îa6 23 c5 Ëd8 24 Ìd3 with 

an unclear position in A.Hall-B.Thomas, 

correspondence 1986. 

12 Íe3 

This time it is correct to put the 

bishop here as neither ...Ìd5 nor ...Ìg4 

are now possible. Instead: 

a) 12 Ìg5 was analysed by Studier 

and Gegner, but after 12...Ëxd4+ 13 

Êh1 h6! 14 Ìxf7 Îxf7 15 h3 (or 15 

Íxh6 Îaf8) 15...Ìfd5! (rather than 

15...g5? 16 Íxf7+ Êxf7 17 Ëxg4 Ëxg4 

18 hxg4 and White is slightly better) 16 

Îxf7 Êxf7 17 Ìxd5 Ëd1+! 18 Êh2 

Ìxd5 Black comes out clearly on top. 

b) 12 Ìe2 Íxf3 13 Îxf3 Ëd7 14 Íh6 
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Ìbd5 15 Îaf1 c6 also left Black a solid 

pawn up in J.Felber-V.Drüke, correspon-

dence 1997, especially after the further 

16 c3 Ëg4!. 

12...Íxf3 

Otherwise White will move the 

knight away; e.g. 12...c6 13 Ìe5! Íc8 14 

Îae1 Ìbd5 15 Íh6 Íxh6 16 Ëxh6 Ëb6 

17 Êh1 Íe6 18 Ìe4! Ëxd4 19 Ìg5 

Îfd8 20 Îxf6 1-0 “Chochoyp”-“Salo”, 

online game 2002. 

13 Îxf3 Ëd7 14 Îaf1 Ëg4 15 Ëf2 c6 16 

Íf4 Ìbd5 17 Íe5 Ìxc3 

W________W 
[rDWDW4kD] 
[DpDW0pgp] 
[WDpDWhpD] 
[0WDWGWDW] 
[PDW)WDqD] 
[DBhWDRDW] 
[W)PDW!P)] 
[DWDWDRIW] 
W--------W 

We are following P.Vanhamme-

O.Masquelier, correspondence 2002. 

Here White should have recaptured 

with the pawn, 18 bxc3, when the 

bishop pair and the pressure along the 

f-file would yield enough compensation. 

Instead, the game continued: 

18 Îxc3?! Ìe4! 19 Íxf7+ Êh8 20 

Íxg7+ Êxg7 21 Ëe1 Ìxc3?! 

It is true that Black should not play 

21...Îxf7 22 Îxf7+ Êxf7 23 h3 Ëe6 (or 

23...Ëf5 24 Îf3) 24 Îe3, but 21...Ìf6! 22 

Íb3 Ëxd4+ would have regained the 

pawn with a clearly better position. 

22 Ëe5+ Êh6 23 bxc3 Ëg5 24 Ëe1 e6 

25 h4 Ëe7 ½-½ 

In view of 26 Ëe3+ Êg7 (but not 

26...g5?? 27 hxg5+ Ëxg5 28 Îf6+) 27 

Ëe5+ Êh6 28 Ëe3+ etc, the players 

agreed to a draw. 

 

A2: 8...Íf5 

W________W 
[rhW1W4kD] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDbDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGW!RIW] 
W--------W 

Here Black decides to block the f-file 

with his bishop in order to pre-empt any 

sacrificial ideas involving Îxf6 which 

are so common in the Studier Attack. 

Often the game will transpose to 8...Ìc6 

9 Ëh4 Íf5 which is covered below (see 

line A42), though there is some inde-

pendent value should Black decide to go 

after the poor white c-pawn. 

9 Ëh4 

The consequent reply. 9 Íb3?! pro-

tects the c-pawn but allows Black to har-

ass the bishop with 9...Ìc6 10 Ìe2 (or 

10 Ëh4 Ìa5! – see note ‘c’ to White’s 

10th move in line A42) 10...a5! 11 c3 a4. 

P.Wölfelschneider-V.Ivanov, correspon-

dence 2001, continued 12 Íc4 Ìa5 13 

Íb5 a3 14 Ìg3 (or 14 b4 c6 15 Ía4 Ìc4 

16 Íb3 Íd3) 14...axb2 15 Íxb2 Íe6 16 
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Ía3 c6 17 Íd3 Îe8, when White’s 

pieces had been completely distracted, 

and after 18 Íb4 b6 19 Ìg5 Íd5 20 

Ëe2 e5 21 dxe5 Ìh5 22 Ìxh5 Îxe5 23 

Îxf7 Íxf7 24 Ìxf7 Êxf7 25 Ëf3+ Íf6 

26 Ìf4 b5 27 Íxa5 Îxa5 28 Ëxc6 Ëe8 

29 Ëxe8+ Êxe8 Black went on to win. 

9...Íxc2?! 

As already noted, 9...Ìc6 transposes 

to 8...Ìc6, while 9...c6 returns to 8...c6 

above. Two other moves that have been 

tried (but should not be feared) are: 

a) 9...Ìg4?! 10 h3 Íxd4+? 11 Êh1 

Íf6 12 Ëg3 and White wins a piece. 

b) 9...Ìbd7 10 h3! (the immediate 10 

Íh6 is well met by 10...Íxh6 11 Ëxh6 

Ìg4 12 Ëh4? Ìe3 or 12 Ëf4 Ìb6 13 

Íb3 Ëd6 and Black is better, 

C.Herbrechtsmeier-B.Filipovic, Swiss 

Team Ch. 2005) 10...Ìb6 (or 10...Íxc2 

11 Ìg5!) 11 Íb3 Ìbd5 12 Íh6 c5 13 

Îae1 Îc8 14 Ìxd5 Ìxd5 15 c4 Ìf6 16 

d5 b5 17 Ìg5 with a massive initiative 

in E.Höhne-Z.Ivanovic, correspondence 

game. 

10 Íh6 

W________W 
[rhW1W4kD] 
[0p0W0pgp] 
[WDWDWhpG] 
[DWDWDWDW] 
[WDB)WDW!] 
[DWHWDNDW] 
[P)bDWDP)] 
[$WDWDRIW] 
W--------W 

10...Íxh6 

There was no way to successfully de-

fuse the white attack: 

a) 10...c6 is note ‘b2’ to 8...c6. 

b) 10...e6 11 Ìg5 Ìh5? (11...Íxh6 12 

Ëxh6 returns to the main line) 12 Íxg7 

Êxg7 13 Îxf7+! Îxf7 14 Ìxe6+ is a 

standard motif in the Studier Attack 

that should be memorized. 

c) 10...Ìbd7 11 Ìg5 Íf5 12 Íxg7 

Êxg7 13 Îxf5! h6 (13...gxf5 14 Íxf7 is 

another version of the motif just intro-

duced) 14 Ìxf7 Îxf7 15 Íxf7 gxf5 16 

Íe6 was quite uncomfortable for Black 

in R.Rost-H.Erbe, correspondence 2003. 

d) 10...Ìc6 11 d5 (not 11 Ìg5?? 

Ëxd4+ and the queens come off) 

11...Ìa5 (11...Ìb4 once more allows 12 

Ìg5! Ìh5 13 Íxg7 Êxg7 14 Îxf7+! 

Êg8 15 d6 Ëxd6 16 Îxe7+ 1-0 

H.Vosselman-Wilske, correspondence 

1986) 12 Ìg5 Ìxc4? (but if 12...Íf5, 

then 13 Íd3!) 13 Íxg7 Êxg7 14 Îxf6! 

h6 15 Îxf7+! 1-0 O.Grantz-H.Naused, 

correspondence 1998, since 15...Îxf7 

(15...Êg8 is answered by the cute 16 

Îg7+!) 16 Ìe6+ should be familiar by 

now. 

11 Ëxh6 e6 

This seems most resilient, but White 

still has enough momentum. Other 

moves: 

a) 11...Ìc6 12 Ìg5 1-0 A.Junker-

D.Rosner, correspondence 2000, due to 

12...Ëxd4+ 13 Êh1 Íf5 14 Ìd5! Îfd8 

15 Ìxf6+ Ëxf6 16 Íxf7+ and wins. 

b) 11...Ìg4 drives the queen back 

only temporarily: after 12 Ëd2 Íf5 13 

h3 Ìf6 14 g4 Íd7 15 Ëh6 she was back 
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with more force in J.Andersson-

T.Sawyer, correspondence 1996, which 

finished 15...Íc6 16 d5 1-0. 

c) 11...Ìbd7 12 Ìg5 Íf5 13 g4! 

Íxg4 14 Îxf6! Ìxf6 15 Ìd5 Êh8 16 

Îf1 was T.Sawyer-"SharpShooter", 

Internet Chess Club 1999, where Black 

had to give up his queen to avoid mate. 

In the further course of the game White 

did not manage to convert this material 

advantage (0-1, 43), but this is of no fur-

ther theoretical interest. 

12 Ìg5 Ëxd4+ 

12...Íf5 13 Îf4! gives White an over-

whelming attack. 

13 Êh1 Íf5 

W________W 
[rhWDW4kD] 
[0p0WDpDp] 
[WDWDphp!] 
[DWDWDbHW] 
[WDB1WDWD] 
[DWHWDWDW] 
[P)WDWDP)] 
[$WDWDRDK] 
W--------W 

14 Îxf5! gxf5 

14...exf5 allows 15 Ìd5! Ìbd7 16 

Ìe7+ Êh8 17 Íxf7 Ìe5 18 Ìxf5 with a 

winning position (Lane). 

15 Íxe6! Ìbd7 

15...fxe6 16 Ìxe6 wins the queen or 

king, while 15...Ëe5 16 Ìd5! Ìbd7 17 

Ìe7+ Êh8 18 Ìxf7+ Îxf7 19 Ìg6+ Êg8 

20 Ìxe5 Ìxe5 21 Ëxf6 1-0 was 

D.Gedult-Thelliers, Paris 1973. 

16 Íxf5! Îad8 17 Íxh7+ Êh8 18 Íe4+ 

Êg8 19 Îd1 

W________W 
[WDW4W4kD] 
[0p0nDpDW] 
[WDWDWhW!] 
[DWDWDWHW] 
[WDW1BDWD] 
[DWHWDWDW] 
[P)WDWDP)] 
[DWDRDWDK] 
W--------W 

Black has no defence. T.Sawyer-

S.Wead, correspondence 1991, con-

cluded: 

19...Ëf2 

Nothing else is any better: 

a) 19...Ëe3 20 Íh7+ 1-0 was 

T.Sawyer-S.Wead, correspondence 1995. 

b) 19...Ëe5 is met by 20 Îxd7! Ëf4 

21 Íh7+ Êh8 22 Íg6+ Êg8 23 Íxf7+ 

Îxf7 24 Ëg6+ and mate next move. 

c) 19...Ëxd1+ 20 Ìxd1 is hopeless; 

e.g. 20...Îde8 21 Ìe3 Îxe4 22 Ìxe4 

Ìxe4 23 Ìf5 followed by Ëg7 mate. 

20 Íh7+ Êh8 21 Íg6+ Êg8 22 Ìce4! 

fxg6 

In the earlier game R.Berthelsen-

N.Grant, correspondence 1970, Black 

just resigned here. 

23 Ëxg6+ Êh8 24 Ìxf2 Îde8 25 Ìf7+ 

1-0 

 

A3: 8...Íg4 

This move has even less independent 

value than 8...Íf5. As it usually trans-

poses to 8...Ìc6 lines of A43, I will only 

cover a few separate ideas here. 
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W________W 
[rhW1W4kD] 
[0p0W0pgp] 
[WDWDWhpD] 
[DWDWDWDW] 
[WDB)WDbD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGW!RIW] 
W--------W 

9 Ëh4 c5!? 

The most interesting deviation. In-

stead, 9...Ìc6 (the best course of action) 

and 9...c6 again transpose to 8...Ìc6 and 

8...c6 respectively. Black has also tried: 

a) 9...Íxf3 10 Îxf3 Ìc6 is inaccurate 

in that it gives White the choice be-

tween 11 Íe3 (transposing to the 

8...Ìc6 main line) and 11 Ìe2!, which 

reaches note ‘a’ to White's 10th move in 

A43 (while avoiding the stronger possi-

bility of 8...Ìc6 9 Ëh4 Íg4 10 Ìe2 

Íf5!). Alternatively, 10...c5 11 dxc5 

Ìbd7 12 Íe3 Ìe5 transposes to 9...c5 

10 dxc5 Ìc6 below. 

b) After 9...Ìbd7 10 Ìg5 is both 

primitive and effective: 10...h6? 

(10...Ìb6? failed to 11 Îxf6! h5 12 

Íxf7+ Îxf7 13 Îxf7 Íxd4+ 14 Êf1! 1-0 

F.Keller-H.Tuchtenhagen, correspon-

dence 1989; 10...h5 11 h3 Íf5 12 g4! 

and 10...e6 11 d5! are also good for 

White) 11 Ìxf7 Îxf7 12 Íxf7+ Êxf7 13 

Ëxg4 and White went on to win in 

H.Klett-H.Erbe, correspondence 2000. 

10 dxc5 Ëc8 

10...Ìc6 11 Íe3 Íxf3 12 Îxf3 Ìe5 

13 Îh3 Ìxc4 (similarly 13...h5 14 b4 a5 

15 Îd1 Ëc8 16 a3 axb4 17 axb4 Îd8 18 

Îf1 Ìeg4?! 19 Ìe4 Ëc6 20 Ìg5 Îf8 21 

Îg3 Ìe5 22 Íb3 Îad8 23 Íd4 Ìfg4 24 

c3 gave White a huge advantage in 

J.Böhm-Y.Razuvaev, Dortmund 1985, 

when Black took his “grandmaster 

draw”) 14 Îd1 Ëc8 15 Ëxc4 led to a 

decisive endgame advantage for White 

after 15...Ëc6 16 Íd4 Îad8 17 Îhd3 

Îd7 18 b4 a6 19 a4 Îfd8 20 b5 Ëc8 21 

Íxf6 axb5 22 axb5 Îxd3 23 Îxd3 Íxf6 

24 Ìd5 in P.Leisebein-A.Neumeyer, cor-

respondence 1999. 

W________W 
[rhqDW4kD] 
[0pDW0pgp] 
[WDWDWhpD] 
[DW)WDWDW] 
[WDBDWDb!] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGWDRIW] 
W--------W 

11 Íe3 

Gegner’s idea 11 Ìg5 Ëxc5+ 12 Êh1 

Ëxc4 13 Îf4 works well after 13...Ëc6? 

14 Îxf6! and wins, or 13...Ëc8 14 Ìd5 

Îe8 15 Îxf6 h6 (15...exf6 loses to 16 

Ìxf6+ Êf8 17 Ìgxh7+) 16 Ìxf7, when 

it is obvious that it is Black who has to 

be more careful. Unfortunately, a third 

queen move refutes this variation: 

13...Ëc7! 14 Îxf6 h5 15 Îf1 Íxc3!? (or 

just 15...Ìc6) 16 bxc3 Ëxc3 and White 

has zero compensation for the material 

deficit. 
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11...Íxf3 12 Îxf3 Ëg4 13 Íg5 

13 Îf4!? Ëxh4 14 Îxh4 Ìc6 15 Îf1 

might be a better try, when White has 

more control over the centre. 

13...Ëxh4 14 Íxh4 Ìc6 

W________W 
[rDWDW4kD] 
[0pDW0pgp] 
[WDnDWhpD] 
[DW)WDWDW] 
[WDBDWDWG] 
[DWHWDRDW] 
[P)PDWDP)] 
[$WDWDWIW] 
W--------W 

Lane assesses this position as equal, 

quoting H.Schuh-H.Neunhoeffer, Viern-

heim 1984, which concluded: 

15 Îe1 Îad8 

15...Ìg4 (as in K.Kent-J.Heikkinen, 

correspondence 1997) should be met by 

16 Îf4 (but not 16 Íxe7?, due to 

16...Íd4+! 17 Êh1 Ìf2+ 18 Îxf2 Íxf2 

19 Îf1 Ìxe7 20 Îxf2 Îac8 21 Ìe4 Êg7 

and Black is clearly better) 16...Íxc3 17 

bxc3 Ìge5 18 Íb3, when the two bish-

ops and active rooks give White enough 

play for his wrecked pawn structure. 

16 Îd3 Ìg4 17 Ìd5 Íxb2 18 Ìxe7+ 

Ìxe7 19 Îxe7 Îxd3 20 cxd3 Íd4+ 21 

Êh1 Íxc5 22 Îxb7 Êg7 23 h3 Ìe5 24 

Íe7 Íxe7 ½-½ 

 

A4: 8...Ìc6 

This move, directly attacking the 

white d-pawn, leads to the main lines of 

the Studier Attack. 

W________W 
[rDb1W4kD] 
[0p0W0pgp] 
[WDnDWhpD] 
[DWDWDWDW] 
[WDB)WDWD] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGW!RIW] 
W--------W 

9 Ëh4 

A pawn down, White doesn’t have 

the luxury of playing defence; for ex-

ample, 9 Ìe2 Íf5 10 c3 saves the c-

pawn as well as the light-squared 

bishop, but after 10...Ìa5 11 Íb5 a6 12 

Ía4 b5 13 Íd1 Ìc4 Black was in com-

plete control in R.Smook-J.Labelle, Ca-

nadian Ch., Toronto 1972; or 10 Íb3 a5 

11 a4 Ìb4 and Black already has every-

thing in place while White lags behind. 

After the text Black has three main 

ways of handling the position: 

 
 

 
 A41: 9...Ìg4!? 184 

 A42: 9...Íf5 189 

 A43: 9...Íg4! 194 
 

 
Others: 

a) 9...b6? 10 Íh6 Íb7 11 Îad1 Ìa5 

is far too slow: 12 Ìg5! Ìxc4 13 Íxg7 

Êxg7 14 Îxf6 h6 15 Îxf7+! Îxf7 16 

Ìe6+ wins in a familiar way (but not 16 

Ìxf7? Êxf7 17 Ëxh6, as in 

G.Alexopoulos-S.Niculescu, Jamaica 

rapid 1992, when 17...Ëh8! defends). 
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b) 9...Ìb4!? is a recent try. Then 10 

Íb3 (10 Íh6? fails to 10...Ìxc2 11 Ìg5? 

Ëxd4+ or 11 Îad1 Íxh6 12 Ëxh6 Ìg4 

13 Ëh4 e5 etc) 10...Íf5 11 Îf2 (still not 

11 Íh6? Íxh6 12 Ëxh6 Ìxc2 13 Ìg5 

Ëxd4+ 14 Êh1 Ìe3 15 Îae1 Ìeg4 16 

Ëh4 Ëd6 17 Îd1 Ëxh2+ 18 Ëxh2 Ìxh2 

19 Êxh2 h6 20 Ìf3 Ìg4+ 21 Êg1 Ìe3 

22 Ìd5 Ìxd1 23 Ìxe7+ Êh7 24 Îxd1 

Íg4 and Black should have won in 

P.Leisebein-P.Woelfelschneider, corre-

spondence 2002) 11...Ìg4 12 Îe2 Ìc6 

13 d5 Ìd4 14 Ìxd4 Íxd4+ 15 Êh1 e5 

16 Íg5 f6 17 Íd2 g5 (to give the knight 

a retreat) 18 Ëg3 was quite unclear in 

K.Behrendorf-N.Luzuriaga, correspon-

dence 2000. Black has retained his 

pawn, but his position is somewhat 

loose. The game continued 18...Êh8 19 

Îf1 Ìh6 20 Ìb5 Íb6 21 Îxe5!? a6 22 

Íc3 Ía5 23 Íxa5 axb5 24 Íc3 b4 25 

Íxb4 fxe5 26 Ëxe5+ Ëf6 27 Íc3 Ëxe5 

28 Íxe5+ Êg8 29 d6+ Îf7 30 dxc7 Êf8 

31 h3 Íc8 32 Íxf7 Ìxf7, leading even-

tually to a draw. 

 

A41: 9...Ìg4!? – The Kloss Variation 

W________W 
[rDb1W4kD] 
[0p0W0pgp] 
[WDnDWDpD] 
[DWDWDWDW] 
[WDB)WDn!] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WGWDRIW] 
W--------W 

Black’s simple idea is to prevent Íh6 

while attacking the white d-pawn; 

though, as we will see, taking the pawn 

creates its own problems. 

10 Íf4! 

Gegner’s move. Other lines are less 

promising: 

a) 10 Ìe2? is just bad as it trades a 

precious attacking piece without elimi-

nating Black’s dark-squared bishop: 

10...Ìxd4 11 Ìexd4 Íxd4+ 12 Êh1 (not 

12 Ìxd4?? Ëxd4+ and 13...Ëxc4) Íf6 

13 Íg5 Ìe3 14 Îfe1 Ìxc4 15 Ëxc4 

Ëd6! (better than 15...e6 16 Ëh4 Íxg5 

17 Ìxg5 h5 18 Îad1 Ëe7 19 g4 f6 20 

Ìe4 hxg4 21 Ëxg4 g5 22 Îg1 e5? 23 

Ëh5 Îf7 24 Ìxg5 Îg7 25 Ìf7 Íe6 26 

Ëh8+ Êxf7 27 Îxg7 mate, E.J.Diemer-

M.Kloss, correspondence 1958) 16 Îad1 

Ëb6 17 Ëf4 Íf5 18 Íxf6 Ëxf6 19 Ëxc7 

Ëxb2 was good enough in L.Czismadia-

K.Kerek, Paks 1994, although 16...Ëxb2 

17 Ëxc7 Íf5 would have been even bet-

ter. 

b) 10 d5 can be met by 10...Ëd6! 11 

Êh1 (11 dxc6 Ëc5+ is the point) 

11...Ìce5 12 Íb3 Íf6 13 Ëg3 Ìxf3 14 

gxf3 Ëxg3 15 hxg3 Ìe5 16 Ìe4 Íg7 17 

Íg5 Îe8 and White had no compensa-

tion in J.Hobson-A.De Vriendt, corre-

spondence 1970. 

c) 10 Êh1, removing the king from 

the g1-a7 diagonal, is met by 10...Ìxd4 

11 Ìg5 Ìh6 12 Îd1 (or 12 Íe3 Ìdf5 13 

Îxf5 Íxf5 14 Îd1 Ëe8 15 Ìd5 Îd8 16 

g4 Íxg4 17 Îd4 Íh5 and Black fought 

off the attack in another Soller-Müller 

game) 12...e5 13 Ìe2 Íe6 14 Íxe6 fxe6 
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15 c3 was played in K.Soller-G.Müller, 

correspondence 1987, and now Black 

uncorked 15...Ìf3! 16 Ëa4? (but after 

16 Îxd8 Ìxh4 17 Îxa8 Îxa8 18 Ìxe6 

c6 Black remains a clear pawn up) 

16...Ìg4!! 17 gxf3 Ëxd1+ 18 Ëxd1 Ìf2+ 

19 Êg1 Ìxd1 20 Ìg3 Îfd8 21 Ìxe6 

Îd6 22 Ìxg7 Êxg7 23 Êf1 and here, 

according to my database, the game 

was drawn – though that’s hard to be-

lieve, as Black is winning easily, for in-

stance with 23...Îb6!. 

d) 10 Ìd5? was awarded an excla-

mation mark in Eric Schiller’s book on 

the Blackmar-Diemer. His analysis runs 

10...Ìxd4? 11 Ìxe7+!! Êh8 12 Ìg5 Ìh6 

(12...h6 13 Ìxf7+ Îxf7 14 Ìxg6+ and 

12...Ìf6 13 Îxf6 are equally losing – 

even better is 13 Ëxh7+!! Ìxh7 14 

Ìxf7+ Îxf7 15 Ìxg6+ Êg8 16 Íxf7 

mate) 13 Ìxf7+ Îxf7 14 Ìxg6+ and 

White won in A.Melchor Munoz-

A.Günther, correspondence 1990. Unfor-

tunately, the more natural 10...Íe6! is 

ignored. Then the direct attack 11 Ìg5 

fails to 11...h5 12 Ìxe6 fxe6 13 Ìe3 

Îxf1+ 14 Êxf1 Ìxd4 15 Ìxg4 Ìxc2 16 

Íxe6+ Êh7 17 Êe2 Ëd6 18 Íc4 Îd8 

0-1 Feldtmann-M.Jager, correspondence 

1985; while after 11 c3 Íxd5 12 Íxd5 

Ëxd5 13 Ëxg4 e5 14 dxe5 Ìxe5 15 

Ìxe5 Ëxe5 16 Íf4 Ëc5+ 17 Êh1 Îad8 

White was just a pawn down in 

V.Bürger-A.Freidl, correspondence 1970. 

e) 10 Ìe4?! was Smith & Hall’s 

choice for the exclamation mark, but 

without mentioning 10...Íf5! 11 c3 

(equally hopeless are 11 Ìg3 Íxd4+ 12 

Êh1 Ìf2+ 13 Êg1 Ìe4+ 14 Êh1 Íf6 15 

Ìg5 Ìxg5 16 Íxg5 Íxg5 17 Ëxg5 e6, 

as in H.Burger-P.Leisebein, correspon-

dence 1989; and 11 Ìeg5 h6 12 c3 hxg5 

13 Ìxg5 Ìh6 14 g4 Íxg4 15 Ìxf7 

Íxd4+ 16 Êh1 Ìxf7 17 Ëxg4 Íg7 18 

Ëxg6 Ìce5 19 Ëg2 Ìxc4 20 Îg1 Ìg5 

21 Íxg5 Ëd6, as in P.Stader-P.Leisebein, 

correspondence 1992, when 22 Ëxb7 

Êh8 23 Îg4 c6 24 Íxe7 Ëd5+ 25 Êg1 

Îfb8 26 Ëc7 Îg8 27 Íg5 Íd4+ 28 cxd4 

Îxg5 29 h3 Ìe3 led to a fitting end) 

11...Íxe4 12 Ìg5 h5 13 Ìxf7 (or 13 

Ìxe4 Ìxd4!) 13...Îxf7 14 Íxf7+ Êh7 15 

Ëe1 (if 15 h3 Íxd4+! or 15 Íg5 Ìxd4!) 

15...Íd3 16 Îf3 Ëd6 17 Íf4 e5 18 Íg3 

Îf8 19 Íb3 Îxf3 20 gxf3 Ìh6 and Black 

was clearly better with his knights in 

H.Wundt-R.Brachtel, correspondence 

1994. 

f) 10 h3?! was Studier’s idea, but this 

also is too slow; i.e. 10...Ìxd4! and then: 

W________W 
[rDb1W4kD] 
[0p0W0pgp] 
[WDWDWDpD] 
[DWDWDWDW] 
[WDBhWDn!] 
[DWHWDNDP] 
[P)PDWDPD] 
[$WGWDRIW] 
W--------W 

f1) 11 hxg4 doesn’t win a piece be-

cause Black has 11...Ìxf3+ 12 Îxf3 

Ëd4+ followed by 13...Ëxc4. Note that 

13 Íe3 Ëxc4 14 Îh3 can be met by ei-

ther 14...h6 or 14...h5. 
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f2) 11 Îd1, pinning the knight, is 

met by 11...Ëd6! 12 hxg4 Ëc5 13 Ëf2 

Ìxf3+ 14 gxf3 Ëxc4 15 Ìd5 Íe6 as in 

M.Pape-R.Genz, correspondence 1968. 

f3) The desperate 11 Ìd5 fails to 

11...Ìxf3+ 12 Îxf3 Ìf6 13 Îd3 Íf5 14 

Ìxf6+ Íxf6 15 Íxf7+ Êh8 (or even 

15...Êxf7 16 Ëxh7+ Êe8! 17 Îxd8+ 

Îxd8 18 Ëh6 Îd1+ 19 Êh2 Íe5+ 20 

Íf4 Íxf4+ 21 Ëxf4 Îxa1) 16 Îxd8 

Íxh4 17 Îxa8 Îxa8 and Black went on 

to win in H.Krongraf-P.Leisebein, corre-

spondence 1991. 

f4) Finally, the direct 11 Ìg5 should 

be answered by 11...Ìh6 12 Íe3 Ìdf5 

13 Îxf5 Íxf5 14 Îd1 Ëc8; for example, 

15 g4 (or 15 Ìd5 Îe8 16 Íc5 e6 17 Ìe3 

b6 18 Ìxf5 gxf5 19 Íe3 e5 20 Íd5 f4 21 

Íf2 c6 22 Íc4 Îd8 23 Íxf7+ Êh8 24 

Îc1 Ëf5 and Black soon won in 

N.Kampars-I.Schwartz, correspondence 

1965) 15...Íxg4! 16 Ìd5 Êh8 17 hxg4 

Ëxg4+ 18 Ëxg4 Ìxg4 19 Íc5 Ìe5 20 

Íb3 h6 21 Ìe4 c6 22 Ìxe7 Îfe8 23 Îf1 

f5 24 Ìd2 Íf6 and the knight on e7 was 

doomed in L.Merill-K.Behrendorf, corre-

spondence 2001. 

W________W 
[rDb1W4kD] 
[0p0W0pgp] 
[WDnDWDpD] 
[DWDWDWDW] 
[WDB)WGn!] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WDWDRIW] 
W--------W 

10...Íxd4+ 

Black has also tried: 

a) 10...Ìxd4 is the most direct move, 

but after 11 Îad1 c6 (not 11...Ìxf3+? 12 

gxf3! Íd4+ 13 Êg2 e5 14 Íg5 Ìe3+ 15 

Êh1, winning material) 12 Ìxd4 Íxd4+ 

13 Êh1 White has a dangerous initia-

tive; e.g. 13...Íf5 14 h3 Ìf2+ 15 Îxf2 

Íxf2 16 Ëxf2 Ëa5 17 Íh6 Îfd8 18 Îe1 

Ëb4 19 Ëh4 Íe6 20 Îxe6 1-0 

P.Leisebein-K.Behrendorf, correspon-

dence 1995. 

b) 10...Íf6 11 Ëg3 Ìxd4 12 Îad1 c6 

is similar, except that here the white 

queen in on g3. After 13 Êh1 (13 Ìxd4 

Íxd4+ 14 Êh1 gives Black the extra op-

tion of 14...e5!?, though this didn’t help 

him in P.Leisebein-B.Riepe, correspon-

dence 2001: 15 Íc1 b5 16 Íb3 Ëb6? 17 

h3 Ìf2+ 18 Îxf2! and wins, since 

18...Íxf2 19 Ëxe5 is terrible for Black 

due to the weakness of the dark 

squares) 13...Ëb6 14 Ìxd4 Íxd4 (here 

14...e5?! 15 h3! exf4 16 Ëxf4 is good for 

White) 15 Ìa4 Ìf2+ 16 Îxf2 Íxf2 17 

Ëc3 Îd8! 18 Íd5! cxd5 19 Ìxb6 Íxb6 

20 Íh6 f6 21 a4 a5 22 Íe3 Íxe3 23 

Ëxe3 with rough material parity which 

eventually led to a draw in W.Trumpf-

M.Michalek, correspondence 2002. 

c) 10...h6 denies access to g5 (and h6 

for that matter). Therefore, White con-

centrates his attention on the c7-pawn 

with 11 Ëg3. Now in A.Lannaioli-

R.Watson, correspondence 1997, Black 

tried to simplify matters with 11...e5, 

but was rather disappointed after 12 

dxe5 Ìgxe5 13 Íxe5 Ìxe5 14 Ìxe5 
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Ëd4+ 15 Êh1 Ëxe5 16 Ëxg6 Íe6 17 

Íxe6 Ëxe6 18 Ëg3, when White had 

regained his pawn with a slight advan-

tage. 

d) Striking the centre at once with 

10...e5 is critical. After 11 Íg5 we have: 

W________W 
[rDb1W4kD] 
[0p0WDpgp] 
[WDnDWDpD] 
[DWDW0WGW] 
[WDB)WDn!] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WDWDRIW] 
W--------W 

d1) Interposing with 11...Íf6 fails to 

12 Íxf6 Ìxf6 (or 12...Ëxf6 13 Ìg5) 13 

Ìxe5 Íf5 (not 13...Ëxd4? 14 Ëxd4 

Ìxd4 15 Îxf6) 14 Ìxc6 bxc6 15 Îad1 

with a clear advantage. 

d2) 11...Ëd6 allows 12 Ìe4 Ëb4 13 

Íb3 exd4 (13...Íf5 should be met by 14 

c3 Ëb6 15 Ìg3, while 13...Ìxd4?! 14 

Íe7 Ìxf3+ 15 gxf3! Ëd4+ 16 Êh1 is 

even better) 14 Íd2 Ëe7 15 Ìfg5 h6 16 

Îxf7 Îxf7 17 Íxf7+ Êh8 18 Íd5 and 

White had a good game in P.Leisebein-

K.Behrendorf, correspondence 2000. 

d3) 11...Ëd7! seems best. P.Leisebein-

J.Plock, correspondence 2000, continued 

12 Ìd5 e4 13 Ìe5 Ìgxe5 14 dxe5 Ëg4 

(14...Ìxe5 15 Íf6!) 15 Ìe7+ Ìxe7 16 

Ëxg4 Íxg4 17 Íxe7 Íxe5 18 Îae1 

Íd4+ 19 Êh1 Íf5 20 Íxf8 Îxf8 21 g4 

Íd7 22 Îd1 c5 23 c3 Íxg4 and a draw 

was agreed. It is unclear if White can 

create any serious winning chances 

here; e.g. 24 cxd4 Íxd1 25 Îxd1 Îd8! 

26 d5 Îd6. 

11 Êh1 Íf6 

Nothing else is any good here: 

a) 11...Íxc3? 12 bxc3 e5 leaves the 

kingside too weak. R.Allen-B.Nater, cor-

respondence 2000, continued 13 Íg5 

Ëd6 14 h3 e4 and now 15 Îad1! Ëc5 16 

Ìd2 h6 17 Íf4 would have won for 

White, e.g. 17...g5 18 Ëh5 Ëe7 19 hxg4 

gxf4 20 Ëg6+ Êh8 21 Ëxh6+ Êg8 22 

Ìxe4 Ëxe4 23 Íd3. 

b) 11...Êg7? unpins, but after 12 h3 

e5 13 Íg5 f6 14 hxg4 fxg5 15 Ìxg5 

White’s attack is just too strong: 15...h6 

16 Îxf8 Ëxf8 (or 16...Ëxg5 17 Îf7+ Êh8 

18 Ëxg5 hxg5 19 Ìe4 and Black is help-

less against the threat of 20 Ìf6) 17 Ìf7 

Íe3 18 Îf1 Ëe7 19 Ëxe7 Ìxe7 20 

Ìxe5 restores material equality while 

retaining decisive threats. 

12 Íg5 

W________W 
[rDb1W4kD] 
[0p0W0pDp] 
[WDnDWgpD] 
[DWDWDWGW] 
[WDBDWDn!] 
[DWHWDNDW] 
[P)PDWDP)] 
[$WDWDRDK] 
W--------W 

12...Ìe3 

Other moves: 

a) 12...Íf5 is once again meant to 

close the f-file, but White has 13 Îad1 
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Ëe8? 14 Ìd5 Îc8 15 h3 h6 16 Íxf6 

Ìxf6 17 Ëxh6 and wins, as in D.Lewis-

A.Harju, correspondence 1980. 

b) The direct 12...h6 doesn’t work ei-

ther: 13 Îad1! (13 Íxf6 exf6 14 h3 Ìe3 

15 Îad1 Ëe7! is less clear) 13...Íd7 14 

Íxf6 exf6 15 h3 Ìe3 16 Ëxh6 Ìxc4 17 

Ìe4 Ìd6? (17...Ëe7 was correct, though 

White is still better after 18 Ìe5! Ì4xe5 

19 Ìf6+ Ëxf6 20 Îxf6) 18 Îxd6 cxd6 19 

Ìh4 Ìe5 20 Ìxf6+ Ëxf6 21 Îxf6 and 

White won in T.Purser-C.A.Magee, corre-

spondence 1993. 

c) In view of the two previous lines, 

one might think that 12...Êg7, which 

removes the king from the a2-g8 diago-

nal and additionally supports ...h7-h6 

might be a problem solver. However, 

White also gets his way here: 13 Îad1 

Íd7 (13...Ëe8 14 Ìd5 Ìa5 doesn’t help 

after simply 15 Íe2!) 14 h3 Ìge5 

(14...Íxg5 is met once again with 15 

Ìxg5 Ìh6 16 Íxf7!, while after 14...h6 

White can play 15 Îxd7! Ëxd7 16 Ëxg4) 

15 Ìxe5 Ìxe5 16 Ëh6+ Êh8 17 Íxf6 

exf6 18 Ìe4 Îg8 19 Ìxf6 Îg7 20 Îd4 

Ìxc4 21 Îh4 and Black has to give up 

the queen in order to avoid mate. 

13 Îad1! Íd7 

Taking the rook at once leads to disas-

ter: 13...Ìxd1? (13...Ëe8? also fails to 14 

Íxf6! exf6 15 Îde1 or 14...Ìf5 15 Ëf4 

exf6 16 Ìd5) 14 Îxd1 Íd7 15 Ìd5! 

Íxg5 16 Ìxg5 h5 17 Ìf4 Êg7 18 

Ìxh5+! gxh5 19 Ëxh5 e6 (19...Íf5 20 

Îxd8 Ìxd8 21 Ìxf7!) 20 Îf1 1-0 W.Sch-

neider-J.Prins, correspondence 1984. 

14 Íxf6 exf6 

14...Ìf5? 15 Íxe7 Ìcxe7 16 Ëf4 

Ìd6 17 Ìe5 Ìef5 18 g4 Ìg7 19 Îxd6! 

cxd6 20 Íxf7+ Êh8 21 Ìxg6+ was a 

nice finish in A.Hall-D.Lewis, correspon-

dence 1983. 

15 Ìe4 Ìxd1 

Not 15...Êg7?! 16 Îxd7! Ëxd7 17 

Ëxf6+ Êg8 18 Ëg5 with a clearly better 

position for White, T.Purser-N.J.Jensen, 

correspondence 1985. 

16 Ìxf6+ Êg7 17 Ëxh7+! Êxf6 18 Ìh4+ 

Íf5 19 Ìxf5 gxf5 20 Ëh6+ Êe5 21 c3! 

Ìf2+ 22 Îxf2 Ëd1+ 23 Îf1 Îad8 24 

Ëf4+ 

24 Ëg7+ Êe4 (not 24...f6? 25 Ëg3+ 

and mates) 25 Ëg3 Ëxf1+ (or 25...Ëd2 

26 Îe1+) 26 Íxf1 also looks promising. 

24...Êf6 ½-½ 

W________W 
[WDW4W4WD] 
[0p0WDpDW] 
[WDnDWiWD] 
[DWDWDpDW] 
[WDBDW!WD] 
[DW)WDWDW] 
[P)WDWDP)] 
[DWDqDRDK] 
W--------W 

The game P.Leisebein-K.Behrendorf, 

correspondence 1998, was agreed 

drawn at this point, though White still 

seems slightly better: after 25 Ëxf5+ 

Êg7 26 Îxd1 Îxd1+ 27 Íf1 Îfd8 28 h4, 

the queen, bishop and passed h-pawn 

should be more effective than Black’s 

knight and two rooks, especially in view 

of his exposed king. 




